
Câu 3: (VMO 2015): 

Cách 1: 

Đặt 2 5 2 5 1( ) ( )(1 )iP x x x x x x x         

Gọi Ai là số số có i chữ số lập từ tập {0,1,2,5} mà chia hết cho ba 

Khi đó 21
( (1) ( ) ( ))

3
iA P P P     với 

2 2
os( ) sin( )

3 3
c i

 
    là căn bậc 

của 1. 

Ta có P(1) = 3.4
i-1

 
2 2 2 2 2 1P( ) ( 2 ) ;    ( ) ( 2 )i iP               

Suy ra 1 2 2 2 2 11
(3.4 ( 2 ) ( 2 ) )

3

i i i

iA               

Vậy số các số lập từ {0,1,2,5} chia hết cho 3 mà không vượt quá 10
k
 là 

1
2 1 2 1

0 1 1

2 1 2 1

1 1 1 1

1
( 3.4 ( 2 ) (2 )

3

4 1 1
   = ( 2 2 )

3 3

k k k
i i i i k

i i i

k k k k k
i i i i

i i i i

T    

   


 

  

 

   

    


   

  

   

  

Vậy  
1

1

1

4 1
3 ,   thi  T = 

3

4 4
3 1,,   thi T = 

3

4 7
3 2,,   thi T = 

3

k

k

k

k m m N

k m m N

k m m N








 


  


  

  


